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Za=1h=h
b =2h
c =+/3h
b? + c? — a?
2bc

_ (2% + (V3h)2 — h* _ 4h* + 3h? — h?
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2ac B 2 X hx3h
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s~ B =90°

~C=180°—(~A+ ~B)

= 180° — (30° + 90°)
= 180° — 120°
= 60°

%1 A=30°~ ~B=90° ~C =60°
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a=bcosC+ccosB
b=ccosA+acosC
c=acosB+bcosA
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cos A = %:E =bcosA

cos B =%:ﬁ=acosB

c=AD + DB =bcosA+ acosB
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a=bcosC+ccosB
b=ccosA+acosC
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b%(a?+c?-b?) a?(b%+c?-a?)
o C[ 2abc B 2abc ]
1
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(a —b )
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+#=(a®? —b*)cosC
(a®+b? —c)

= (a® - b?)
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acosB —bcos A
a?+c*—b* b*+c*—-a?

=a
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B 2c
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a? — b?
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a C

sinA sinC
csinA=asinC

asinC

c=—
sin A

asinC

c = —
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[iz42]
a’? =b%+c%—2bccosA
a=\/b2+c2—2bccosA
2 2_1n2
cosB =41 = 4w ,B
22baZC 2
+ —-C .
cosC=222"°, v 1@ _C
2ab

AABC® > ¢ Zra~b~c>» f¢2A~2B% C -

[f#42]
b%+c?-a? b%+c?-a?
C0SA=——> ~A=arccos( )
2bc 2bc
2 2 2 2 2 2
a“+c“—b a“+c“—b
cosB =———> B =arccos(——)
2ac 2ac
2 2 2 2 2 2
a“+b“—c a“+b“—c
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sinB  sinC
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vtan B = Y S s = x cot B------- (1)
'.‘tana=y%’ .'.y+d=ta’;a=xcot0{ ——————— (2)
2)-(1)>

d =xcota—xcotf =x(cota—cotf)
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AABC* > % = tan @------- (1)
ABCD*® > =2 = tan f-------(2)
== X—a
PO B
4 (2)BC =5

X—a xX+a

“tana  tanf

(x—a)tanf = (x+a)tana

xtanfB —atanf =xtana + atana

xtanff —xtana =atanf + atana

x(tanf —tana) = a(tan f + tan a)
a(tanf + tana)

tan B —tana
P a(tan f+tan a)

'g.x:

tan f-tana
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